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QUESTION 1

You have a 4-node cluster and want to ensure that a new NAS LIF can fail over to any node. In this scenario, which two
actions are required to configure the LIF? (Choose two.) 

A. Add ports from all nodes to the LIF\\'s broadcast domain. 

B. Configure the failover policy tobroadcast-domain-wide. 

C. Add ports from all nodes to the LIF\\'s home port list. 

D. Configure the failover policy tosystem-defined. 

Correct Answer: AD 

 

QUESTION 2

Which privilege is assigned to the vsadmin-backup role? 

A. managing volumes 

B. managing Snapshot copies 

C. configuring LIFs for cluster peering 

D. configuring SnapMirror relationships between clusters 

Correct Answer: B 

 

QUESTION 3

You use the Automated Workload Analyzer (AWA) to identify workloads that would benefit from which feature? 

A. Flash Pool aggregates 

B. Advances Disk Partitioning 

C. storage efficiency 

D. FabricPool capacity tier 

Correct Answer: A 

 

QUESTION 4

Which two objects are supported in a FlexVol volume? (Choose two.) 

A. gtree 
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B. LUN 

C. RAID group 

D. aggregate 

Correct Answer: AB 

 

QUESTION 5

Which two statements about replicating FlexGroup volumes are true? (Choose two.) 

A. You can increase the capacity of a FlexGroup volume that is being replicated. 

B. You cannot perform a resync on a FlexGroup SnapMirror relationship after it has been broken. 

C. The SnapMirror relationship type must be XDP. 

D. The SnapMirror relationship type must be DP. 

Correct Answer: AB 
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